RV-10DX

KOSHIN

(@553

GESH/—R)

BI{¥ RV-10DX-AAA-1(045871730)

*EREHE 1ACERALTVAERTY. AUBTRHYEEA
* RORMAE (IERR—EH 7 Y OFRE NEMIE TS

No. | #MmIa—R = - fEFAEZ wROg B B fi& =z
1| 045251701 | RV-10 10 Yyhhéry 1| PE 5,250
2| 045229402 | JS-10 4754497 (%) 1| PP - | sI TS
3| 045068703 | RM-10 #79%vy7 IV y$y 1 | NBR60° 150 N
4| 045078401 | RM-10 7'Y-4"=ak" vy’ 1 100 N
5| 040048002 | HS Ab-F- 1 | PP 040025402 [ 100 N
6 | 045070003 | RM-10 Akb—F- 1| PE 1,200
7| 045070104 | RM-10 5t&hy7 1| PE10YyMA 350
8 | 045846016 | RV-10 #7743 1 5,800
9| 045251804 | RV-10 &'v7" L&} 1| PP 1,900
10 | 045251901 | RV-10 & V7 TF&B 1| PP 1,900
11| 045252101 | RV-10 4 {¥734hN - 1 300
12 | 045252001 | RV-10 4 {¥734 1 1,650
13| 045252302 | RV-10 3y/@EEH Wb 1 750
14 | 045253502 | RV-10 4 {¥77548 LR 1SS 200 N
15 | 045252202 | RV-103y4 1| SUS 1,950 N
16 | 045845701 | RV-10 &3 1 350 N
17 | 045252501 | RV-10 &&H 1| PP 100 N
18 | 045260301 | Oy¥ 1| P22FR 100 N
19 | 045259901 | RV-10 IRA - HHFH 1| FR 100 N
20 | 045256801 | RV-10 R&FHAT Y 1| sus 250 N
21| 889855030 | OYv4’ 1 | P3ONBR 100 N
22 | 045252603 | RV-10 £&# 4197 1| FR 100
23| 045070305 | RM-10 Fyyn - 1| PE 450
24 | 889955045 | OYv4’ 1 | G45NBR 100 N
25| 045259901 | RV-10 B&A - it H# 1| FR 100 N
26 | 045262301 | 3 EbhATFINfFEIN NG 8 | SUS M5 x 22 100 N
27 | 827405006 | AEtyb 1| M6 SUS 100 N
28 | 045368201 | 4744497 # 1| PVC 100 N
29 | 045265601 | 3 mEhATFINFFEIN NG 1| SUS M6 X 16 100 N
30 | 045261504 | RV-10 £ 77 B Ak-2 1| PVC 200 N

OEMEZAREBRORTIIToTEY E A,

OEBRFERKEETIEPHYET. DRFMEICHERISENTEY A,

OFBIBEHEBPPYET.



RV-10DX

KOSHIN

B~ ©~@)

(B~

@853

GE#H/—R)

B4 RV-10DX-AAA-1(045871730)

*EREHE 1ACERALTVAERTY. AUBTRHYEEA
* RORMAE (IERR—EH 7 Y OFRE NEMIE TS

No. | #mIa—R = - fEFAEZ RO - M B B fi& =z
31| 045846903 | RV-10 479k A#-R53 1 650 N
32| 045227801 | JS-10 7509 N y4y 1| FR 500 N
33 | 045020601 | MS-4 N REES 1| SUS® 14X 28XTI 100 N
34 | 045020402 | MS-4 NANAfyb 1| BS 100 N
35| 045262601 | RV-10 #®4Uy7 2 | SK 100 N
36 | 045252702 | RV-10#& Y7 #n'- 1| PP 300
37 | 045102402 | KK-18X /7 K b 1| M6 X 10 200
38 | 045239201 | KK-10V /7K Woyiv 1 100 N
39 | 045252401 | RV-10%'¥ 1| SuS 1,950 N
40 | 045253003 | RV-10 AVM WRY=7 4| PP 150 N
41| 045267005 | RV-10y7°t’Y 5| SUS ¢ 18 100 N
42 | 045845801 | RV-10 AVM W93 1 1,350
43 | 045074202 | RM-10 7997 b-} 1| Sus 950 N
44 | 045265701 | 3 mthA+FIRfFEIN NG 3 | SUS M6 X 10 100 N
45 | 045265801 | 3 gthA+FINfFEfN NG 4 | SUS M6 X 12 100 N
46 | 045015302 | MS-4 A'Wh7y4 1| Sus 1,300 N
47 | 045837101 | KK-10V yald -\ I3 &/ (A R) 1| 2 950
48 | 045837001 | KK-10V yald =N M3 E (A R) 1| & 950
49 | 045259801 | RV-10 X TN yh 1 1,400
50 | 045849203 | RV-10DX Bt Hif-253 1 900
51| 045053201 | KK /N3y 2 | PVCHF 150 N
52 | 045275602 | RV-10DX &Y 5" Yy7 1|55%& 1,300 | PA-285(4971770-107809)
53 | 045213602 | MS-E2R25T #-h1ys G(PF)1/4 1| 045078501 @ 55& 1,250
54 | 045849103 | RV-10DX /X N {7° 43 (60CM) 1| G1/4 2,400
55| 045106802 | KK JAWNA7 N y%y 4 | PVC 7 100 N
56 | 045248201 | DK-10 /A WAI/H 1 150 N
57 0109281 KK-10V %% 2 SO MO 43 1| D5 1,900 | PA-286(4971770-107816)
58 | 045708403 | DK-10 pn'-fF;BfREEOS (F) 1| GI/4hRE HEBAIN - 2,500
59 | 045020302 | MS-4 ERKEEN N 1 100 N
60 | 045277101 | RV-10DX &#577° I (10L) 1 300 N

OEMEZAREBRORTIIToTEY E A,

OEBRFERKEETIEPHYET. DRFMEICHERISENTEY A,

OFBIBEHEBPPYET.



RV-10DX

KOSHIN

Q8

GESH/—R)

©867/6)
( :Ml )“®

2

BI{¥ RV-10DX-AAA-1(045871730)

*EREHE 1ACERALTVAERTY. AUBTRHYEEA
* RORMAE (IERR—EH 7 Y OFRE NEMIE TS

No. | BB&mI— R = - R MEE ] & B & =z
61| 045224402 | KK-10V ZIREEZEIN 1 150 N
62 | 045264101 | RV-10{ER LDEEN I 1 100 N
63 | 045277301 | RV-10DX JAN 7A"J) (10L) 1 100 N
64 | 045700702 | JS-10 4v9% + v 743 1 850
65 | 045286901 | KV-ER #itF 2 AR OANE 1 850 N
66 | 045286601 | KV-ER AM—+-f4 7R 2 400 N
67 | 045294601 | KK-10V F&#x D5 2 150 N
68 | 045286701 | KV-ER #ry7° (#iB 2 EEOMEOA) 2 150 N
69 | 040072602 | HS;BREDHR 1 100 | @-mA N
70| 890157012 | OVY»¥ 1| S12 FR 200 | B -H N
71| 040072402 | HS ;aRsE FAIENR 1 300 | BAN-FB N
72 | 040072503 | HSAREMAEO 7 1 100 | BAN-- B -1E N
73| 045312401 | RV-10;8RRERDRR (F) 1 100 | &EBAAN -FB N
74| 045312602 | RV-10 ;BRRERAMERN v4Y (H) 1 | NBR 100 | FEBAAN-FR N
75| 045312501 | RV-10;EE AR () 1 100 | EBAAN -FD N
76 | 045389101 | KK-10V yahy -\ WoikH 1 1,900
77 | 045281801 | RV-10 4yy3vah(4H) 1 100 N
78 | 045281701 | RV-10 4yy3v3h (&) 1 100 N
045277703 | RV-DX ¥Y-3" ER$LStEAE 1 650 N

OEMEZAREBRORTIIToTEY E A,

OEBRFERKEETIEPHYET. DRFMEICHERISENTEY A,

OFBIBEHEBPPYET.



